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1. 9 SENT A HdE 3 T BT T JH-a15eT 327 HUR 0 3 ffe e ¥ Fare smfra
o aran &1 afe AT A9 3 e gfafte i & A A & HTER B deaar A @@ & o

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
quaiification as per our advertisement, your candidature will be rejected.

2. U9, 80 W W G weeT-qReen & v A E A odiew By safer 02 w2 ¥
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. IR Aweul afed argirs s F wee g foed ¥ % wF iReT w7 § @l 8w |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, GAF W HAU 04 3F g 3R v@AF o 3eaX FRT TF 3F FET T |

Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. SR & Sec & & o 31TeT HTANR Seen-gfeas & st
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3T, Sea-IRTH 3 T 71T 3regdeit F AR, Arelpred T & & ae 9T ¥ AR S

TRt & FeTIcT Jifarer 1 3 0 T et &1 99 T )

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet,

7. UH Y & AT 3HAF IeaR Ield AT S99
Multiple answers for a question will be regarded as wrong answer.
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10.

1.

12

13.

14,

15.

S T et 2 AR Yo fede H1s TR Seck JReer 4X fEse Fure o foram anfevy

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

5eeT-QfRETeRT 3 ST F11H T 3ieTshaieh T ord |

Enter your Name and Roll Number correctly in the question booklet.

mamm-gﬁaﬁrﬁmﬁqﬁﬁmi;hahmwﬁ%ﬁamgﬁaﬁa#maﬁ%m

All entries in the OMR answer sheet should be with blue/black ball point pen only.

et afer & FrdieTe 9 3ureuy F &1 3Mue gie-RFe/PrRIaTd 9X gFaRR #AT aieC|

You should sign the hali ticket only in the presence of the Invigilator in the examination hall.

e, Site N T i HeTaf ET &Y Srus

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

wreeT-gReaeT 319t 379 U T T €

The question booklet can be retained by the candidate.

qraTT & v 6 & et st o adiem gier aig Y IAATT AT €

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TR I - (AT JaraF-rereror A%Fw)-9e 46.1395
TECHNICIAN - B (CHEM. OPERATOR — MAINT. MECH) — POST NO.1395

Th P W AT & aF Al 3¢ B T W F QU H Fevare 9iFaT £l

An operation performed for enlarging an existing hole upto a limited length from one end is called

(a) SEF/Boring (b)  AU/Drilling
(c) WWICOunter-boring (d) 3R RATFN/Counter- sinking

3T g AGoR JoBd H, des F Ak T T ST FE ¥ AT FE gER F5
Hﬁmi’rq{’rﬁw:mgm%?

Which type of non-destructive test is suitable to check the internal defects of weld in high pressure
boiler welding?

(@) gﬁiﬁ"’l 0T JUETUT/Magnetic particle test
(b) T deek YARTUT/Liquid penetrant test

(c) W<HAT 9LI&ToT/ Visual test

(d) MSTrenfhe WaToT/Radiographic test

BT eI a P I ¢ o Ra et F .. |
Drill sleeve is used when the taper shank of the drill is

(a) HT Flé? ¥ 7 8/Larger than the machine spindle

(b) AMA FFi-T & WA 8/Equal to the machine spindle

() AMA ('-l'_ﬂrl:-T A BIET §/Smaller than the machine spindle

(d) 3'CRET=I»FT # ¥ SIS §/None of the above

100 LA 1 TF FF T 2100 pm W F W @ ¥ #Mex 9fa Beve F gedmy afy
T 9l oRme|

A grinding wheel of 100mm is running at 2100 rpm. Find out the surface speed in meter per minute
{a) 660 m/min (b) 1047 m/min (c) 66 m/min (d) 6.6 m/min

FHOMcHS IF T AAFIIT ... ¥ AfAT eR o Rar war

The negative rake angle is generally provided on the tool made of

(a) 3= 91fd $EUTA/High speed steel (b) 3SR 3T/ Tool steel
(¢) 3TTFHEA FEUTA/High carbon steel d) EREA H-Tﬁﬁgg/Tungsten carbide

10fAHA. BT & @9t 93 & w1 F fow sy AR & A ... 4!

The width of the tool used to cut 10 mm pitch square thread is
@ 1A /mm ) 7.5FA/mm © 5 /mm @ 2.5 A /mm
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10.

11.

12.

HET H 3T AGAA T ANH HA & [T IYFT ITROT ... gl
The instrument used to measure high temperature in the furnace is

(a) FANIIHICY/ Calorimeter (b) SRFTYBarometer

(¢) TISUAHICY/Pyrometer (@ YA/ Thermometer

63 fAT. ¥ ST 200 fAH. TF F UBT W Thga & fov RHelRiEa 7§ e
Fqar AT ST 87

Which one of the following is used for holding pipes more than 63 mm and upto 200 mm?

(a) YISY arsH/Pipe vice (b)  GTY IT/Pipe wrench

(c) T 9IST JI$H/Chain pipe vice d B 8T T@/Foot print wrench

Pl # & ugT 93 & ‘Srae(ss UiIer HieT-am §7
Which one of the following is the included angle of a pipe thread?
(a) 27° (b) 55° () 29° (d 90°

a7l AR F smEEEe) Tu & Re fFE 9eR F 93 39T 82
What type of threads are suitable for the lead screws of machine tools?

(a) Tofeer TA AT ¥8/British Association threads

(b) faead dw ﬂ‘\?ffWhitworth Screw threads

(c) VFA ¥3/Acme threads

(d) T YB/Square threads

mﬂmﬁﬁza%adﬁrﬁ,aﬁmaﬂw .............. F AT gl

In transverse fillet welded joint, the size of weld is equal to

(a) deBF YU 0.5 a=11/0.5 times the throat of weld
(b) o8 & YI¢/Throat of weld

(c) desFUTH V2 UFITNIZ times the throat of weld
(@) %3 & YT H 2 T2 times the throat of weld

9 & AT F 3 AT R TNE T [Har Sar §, d9 ST #r 3R
37d e g

When a nut is tightened by placing a washer below it, the bolt will be subjected to

(2) oA Gfciael/Tensile stress (b) FHEES Afdac/Compressive stress
(c) WUFIUT Ufael/Shear stress (@ zEAA 3 8f¥ €1/ None of these
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13.

14.

15.

16.

17.

TF UT Bl GG U a9 HT AT &, o9 ST &I ... grdr £l
A screw is said to be over hauling screw, if its efficiency is

(@) 50% ¥ &H/Less than 50% (®)  50% & ATEH/More than 50%

(©) 50% % FATA/Equal to 50% (d 3OH '@g—ﬁi #T AZI/None of these
x2-9x+18=0F HqF wcocorvers gl

The roots of x? —9x + 18 = 0 are

(@ 6,3 b)) -6,-3 () 4,3 @ 6,3
T g 3mia gomelr H ... gl

In a hole basis system

(2) T = TR T@1 STaT § 997 A9 TR FEalar &
Hole is kept constant and the shaft sizes are varied
(b) MFE T FAR et e §
Upper deviation of shaft is zero

(c) 2MUe =l f&R T@N IATAT § TUT &g 3R SEaldi &
Shaft is kept constant and the hole sizes are varied

(d) (a) T (b) E=1/Both (a) and (b)

SEATT BN SFIY A FT 3237 ... gl
The purpose of tempering the steel is

(a) ST i AR Fichael T Tl { HeFe @A & faw
To relieve the steel from internal stresses and strains
(b) TIAT & F=1 P TlU/To reduce the ductility

(c) 34?5?11‘ FH T & oI/ To reduce the brittleness
(d) (a) @ (c) &=1/Both (a) and (c)

eT 97 93 & R cam fr s ZaRT &1 ST ¥
The pitch diameter of the external screw thread is checked by

(a) YT T TATN/Screw pitch gauge
(b) 3 AT YA/ Thread ring gauge

(c) YT U3 AGHIHICY/Screw thread micrometer
(d) IR FHSIT/ Vemnier caliper
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18.

19.

20.

21.

22.

23.

24,

500 f&., & o O T 9 W 20 FH/AL F TR g9 & Rw 9y ) ®wis
& T Infea I@aRTer & gar S|

Determine the offset required for tail stock in a lathe for producing a taper of 20 mm/m on a piece
of 500 mm in length.

(@ SHEFA/mm () 05AFH/Mm (© 10AHYmm (d) 20/FFA/mm

ANFATAT .vvenreen. & v s 2

Machinability is the highest for

(a) STRIT HEA/Bearing bronze (b)  FoTo=T TS STUTA/Low carbon steel
(c) SIIRIYY STUT/Stainless steels (d) Tomge/Stellite

@18H8 (ES +52um, El +0pm) TR & U g # @188 (ES -40um, El- 73um)3T&HR &

T § FEERT B JET T a9 9 B F g & 3f0Fqaq Fedr w1 gar S

A hole of size D18H8 (ES +52um, EI +Opm) is to be assembled with a shaft of size
18£8 (ES -40um, EI- 73um). Determine maximum clearance between the shaft and the hole.

(a) 0.125 (b) 0.158 (c) 0.052 (d) 0.040

HIFT Foss feada @ @AY F Fn W@ & 457@ T §l FIU AT TR A
s Hr B greiri

The compound slide swivel base is set at 45° to the centre line of lathe. The degree of the reading at
the cross slide index will be

(@ 135° (b) 45° © 90° (@ 30°

TR # TF SFS .......... & HAW g

One unit of torr is equal to

(a) 133.322 newton per square meter (b) latm

(¢) 1.322 pascal (d 76mmHg

3.009 14.00 A, & 3MHER & B3, AF TR G oo ¥ IR IF F 3T ¢
Drill of size 3.00 to 14.00 mm corresponds to taper shank of Morse Taper No.

(@ 1 () 2 © 3 d 4

't HIeE & T Ui W F9 0 A # BE, B B S §, a9 w3 & O
& fav aof@d o ........... & A g

When a hole of diameter ‘d’ is punched in a metal of thickness ‘t’, then the force required to punch
a hole is equal to (1 = shear stress of matenial)

(a) dto (b mdtr () (wd).dz @  (wd).d i
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25.

26.

27.

28.

29.

30.

TE HROT % FROT T iz F oAy dar o dRa B a1 aeaarr A0Eaa S
1 AU FEd Bl

Maximum energy that can be stored in a body due to external loading upto the elastic limit is called
(a) YcATEAdl/Resilience (b) UATEAAT Bg/Proof resilience

(©) ﬁfﬁ' o11/Strain energy (d) SITEAAT AT/ Modulus of resilience

U G AR S S 7 SaRer & dr, R R mifEe i T a) oW
AN FAT G, AT ... Fgd B

A sliding bearing which can support steady loads without any relative motion between the journal
and the bearing is called

(@) [T free 53R/ Zero film bearing

(b) AT TAfeaT SaRTV/Boundary lubricated bearing

(c) CaIiThIT =T a’ﬂﬁ?T/Hydrodynamic lubricated bearing
(d) zgaedfas @ika a’ﬂﬁ?T/Hydrostatic lubricated bearing

20 HEAst 1 A 7 B S @, FH-I-FF fhdel TGV HOCAF & FFAr ¥2

The average of 20 numbers is zero. Of them, at least, how many numbers can be negative?
@ o (b 1 (¢ 10 @ 19

T Higegrer 9sy, 1.4 Nmm2 & g9 o 9fd &er 2400 m3 $19 &7 d67 aar &1 Wag
T 39T 30m/s §| I8 F HdNF UrF F7 IaT F9N0|

A seamless pipe carries 2400 m’of steam per hour at a pressure of 1.4 N/mm?. The velocity of flow
is 30m/s. Find the inside diameter of the pipe.

(@ 170 A /mm b 17 #FA/mm
(© 112 A ./mm (d) 3"@3?[ H & IS TE1/None of the above

dvAE T g9 fr gaE Rufa & e g N ¥ wEe s3maa F 99T e ¥
3] faezA g €1 5 R A Fed &

“Equal volumes of all gases under similar conditions of temperature and pressure contains equal
number of molecules”. This law is known as

(a) STece faaA/Daltons Law (b) TarETE fAFHA/Avogadros Law
(c) gt ATHA/Newtons Law d sTHY FS T61/None of these

98 g H2S0,3 TeWIRF 3Fel & I 30T AT HEAT ............ gl
Number of moles of Sulphuric Acid in 98g H,S0, is

(@) 8 (b) 4 © 2 @ 1
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31.

32.

33.

34.

35.

36.

37.

A9 I 3ATg Al # UF Ty o fRAar Snar &, a9 Al €80 U= @

GHTEA......... B

Probability of getting “No heads” when three unbiased coins are tossed simultaneously is
(@ 1/8 by 116 ¢y 12 d 718
AT TRONT & TH selih GTR B . & @ I g

In periodic table, S block elements are arranged in
(a) Groupl &?2 (b) Group3 &4 (c) Group5&6 (d) Group?7

T 30 g g W] & Raffeer cqaeamsdt § g o A # wed &l
Two compounds having same molecular formula, but different arrangements of atoms are known as
(8) 3TSEIAY/Isotopes (b) HTFHER/Isobars
(¢) 3MSAIAY/Isomers (d) TTH Y PIS AGI/None of these
et gergl # & vedhe & ugae |
Identify the alkane in the following substances
(a) CH;-CH; (b)y CH,=CH; (c) CH=CH (d) CeHse

CH,

|

CH,-CH-C=CH & |UPACATH ............ .
CH,

I
The IUPAC name of CH,; ~-CH-C=CH is

(a) 3-methyl -1-butyne (b)  2-methyl-1-butane

(¢) 3-methyl-1-butene (d)  3-methyl-1-butane

CCL T & faT quear yerer $r 3ufeufa A AT F FEHFT ........... T 3G
Chlorination of methane in presence of ultraviolet light to form CCly is an example for

(a) WfATATI/Substitution (b) fERTEROT/Elimination

(c) TIST/Addition (d) saAH ¥ HIS TE1/None of these

feras & a9 Jeaie AR i e # g gl

Gram equivalent weight per liter of the solution is known as

(a) e SR/Equivalent weight (b) AT/ Molarity

(c) Freed/Molality (d) ARFAAAYNormality
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38.

39.

40.

41.

42.

43.

44.

FA R FIUA ... IGEAGEE: B [ C

Boiling of water helps in removing

(a) B 372/Solid content (b) IFeUHIfa® FORAN/ Temporary hardness
(c) TS HARAVPermanent hardness (@) (b)) T (c) =I/Both (b) & (c)
AT ¥ FORA Icqeed FAAIS AT I reprerey 7 ufsear &7 ... Fed Bl

The process of removing hardness producing salt from water is known as
(a) STl T FORYI/Hardening of water

(by STeT T HGelel/Softening of water

(c) STl &l 2eT=l/Purification of water

(d) AT HT ZIEﬂ' FUTRARIOT/UV stabilization of water

R wfds faaras AR Smar 82

Which is known as universal solvent?

(@) IHFcl/Acid (b) &/Alkali

(c) STel/Water (d) %ﬁ#aﬂéﬂﬁmone of these

TS Aol 7 3T9 U WEIROT | IERAT &1 $H THR F HENOT F ......o.e. wed &l

When dissimilar metals are electrically connected and exposed to an electrolyte, the metal higher in
electrochemical series undergoes corrosion. This type of corrosion is known as

(a) JaTeT HETROT/Galvanic corrosion

(b) ST TETROT/Stress corrosion

(c) TR WEIRUT/Differential aeration corrosion
(d IaH HETROT/Pitting corrosion

Uil &1 AT 36w cm® &1 & el o Baar ... g

Volume of a sphere is 36 cm3. The radius of the sphere is

(8 6cm (b) 3cm (c) Y%cm (d) 3.6cm

s faeras # Tl gehl F A HU] GIAIS H AR FAA ... gidr g1
The sum of the mole fractions of all the components in a solution is always

(@ 0 b 1 ) 2 (d) 313/ Infinite
3T f@emasT #T pH........... 8T Bl

pH of neutral solution is

(@ 4 (b) 0 (cy 7 (d 14
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45.

46.

47.

48.

49.

50.

51.

52.

Equivalent weight of HCI is

(a) 355 (b) 36.5 () 375 (d) 2835

A KA Feufa & oY ar 3 e sgew & sqecu uaRs geF # ............ FEA &
Chemical elements existing in two or more different forms in the same physical state is known as

(a) TATATAF/Isotopes (b)  HYFY/Allotrops
(¢) 3%IUHT/Amphoteric (d) HHAGE/Isobars

SIZHE H FaAT & SFE ........... gl

Unit of energy in SI unit is

(2) -<[ed/Joule (b) drE/Watt (©) #YCsA/MNewton (d) FalRI/Calorie
1atm@e .............. m of H20 column & sTeX gl

1 atm pressure is equivalent to......... m of HyO column.

(a) 101625 (b)y 760 (¢) 10.33 (d 421
o AT PR H, AT A oo A g 8

In blake Jaw crusher, the movable jaw is pivoted at

(a) e/Center

(b) 2MV/Top

(c) dd/Bottom

(d) wxavFfagE Gl/One third distance from the center

arar B & IIFEE0T ueAarel Feas S # FEd g

The minimum speed at which centrifuging occurs in ball mili is called

(a) TRFEY ARA/Centripetal speed (b)  ATHT Fid/Normal speed

(c) 3T9hdr ATfa/Centrifugal speed (d)  swifas Tfc¥/Critical speed

dier fRe & garee afa wifas afa & ... g1 afge

Operating speed of ball mill needtobe .............. critical speed

(a) RA/Less than ()  3T8/More than

(c) WHWEA/Equal to (d) 3'CI'-:“I,3-T-I' #H A IS FTE/None of these
1 ATSHIT oo gl

1 micron is

(@ 10°%m () 10"m ) 10%m d 10°m
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53.

54.

95.

56.

57.

58.

Mesh is

(@ wfaX@szT ﬁE‘_Fﬂ' T HEIT/Number of openings per linear inch

() ST sT ﬁ'cg-ﬁ %I T&AT/Number of openings per square inch

(© ufa T AT ﬁw &1 F&AT/Number of openings per square centimeter
(d) 3T ¥ FIS 7AE/None of these

dTg ZaRT Terd & ¥ 17 3 A Ry o ufsar w5 8 gl

Removal of moisture content of a substance by thermal means is known as
(a) AHTEIYT/Screening (b)  Y=hsi/Drying
(c) 3HTHT/Distillation (d) TEsI/Condensation

50 9T Q.HY. 81Tl aTel 3N T TS T IaT S19MG, Foraest aR&A 3047 &

Find the length of the rectangle of given area 50 sq.cm whose perimeter is 30 ¢cm.

(@ -l10 (b) 5 (¢ 10 d -5

TFH HIHRET 9T oo Bgiad W F T ¢

A centrifugal pump works on the principle of,

(a) faTaa faramaa/Positive displacement
(b) o 3 3TeR/Difference in head
(c) QTIATA H AcR/Difference in temperature

(d) 3‘1’{593‘?!‘ qE EF]? AgI/None of the above

frafaf@a 7 @ 59 St A STaaa Fefig A &7
Which one of the following is a fuel with highest calorific value?

(a) EBErSlal/Hydrogen (b) HIS/Fire wood

(c) 3BrsTel/Diesel (d TSHS/LPG

[T A FAT H WHih Yagd, AT F FRT, ........... & 3R & GROTFEEEET ¢
Natural convection of heat in gases is due to the difference in ...... on account of temperature,
(a) U/ Viscosity (b) HYelcd/Density

(c) M Velocity (d) E<A/Purity
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99.

60,

61.

62.

63.

ﬁﬂéwéawﬁgvaawmdq(v)aﬁ%aww@)wﬁaﬁm
1 &, o Peafaf@a & J wla-d 3T T &2

Which one of the following is true, when a centrifugal pump (A) and positive displacement pump
(B) are operated with the discharge closed?

(a) TN F fT I §EAT &/Pressure increases for both A and B

(b) T EAT % foIw & FELX TEAT B/Pressure remains constant for both A and B

(c) qET ¥ 9¢ar ¢ T o 7 T8UT TaT B/Pressure increases in A and remains constant in B
(d) 29 U H FeUT Igdr g &f 7 §GdT § &/Pressure remains constant in A and increases in B

T T8 A Y e & varg ¥ v, Aelei@a & § Fia-d 3T a6 82
For a particular fluid flowing in a tube, which one of the following is true?

(a) WGTE &Y & g & WY 1€ g1 Ut &

Pressure drop decreases with increase in flow rate

(b) TUTH ¥ S¢o! & WY G FTH ToAT &

Pressure drop increases with increase in diameter

©) IMFFAFTASHEHIGATE

Pressure drop increases with reduction in velocity

(@) varE 9ReT & 9ga F qrY G g1 gl &

Pressure drop decreases with increase in flow cross section

WA F YA & F AGA A g fArAfafad & § g yaer A far Smar

Which of the following is not used for measuring flow rate of fluids?

(a) VTTHICY/Rotameter (b) aFg'fI?ﬂZT/Venturi meter

(c) MR ATV Orifice meter (d) @EsReY/Hydrometer

T $U d AR ol FaAT H ... EART AT ST Fehll &l

Total energy content of a fuel is represented by

(@ UAEY/Enthalpy b Reaasd FS1/Gibb’s free energy

(©) Urgull'iI/Entropy (d) SoHIEn ecy ﬂﬂﬂﬁ‘fﬂiehnholtz’s free energy
aRaelt arg w FhiEd AT ST &, 99 e g &

When ambient air is compressed,

() TUTY HTEAT TG §/Absolute humidity increases

(b) %3IR T TeaT §/% RH decreases

(¢) TUTY 3TeaT TIecT &/Absolute humidity decreases

(@) IuTe 3mar FER 1@ §/Absolute humidity remains constant
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64.

65.

66.

67.

68.

69.

ar Afder g3t (B 7 awe) F faemstt & &g & [uiRa siax = ... FEd T

The prescribed difference between the dimensions of two mating parts (hole and shaft) is called

(a) H&Tdl/Tolerance

(b) AV Allowance

(c) HAVLimit

(d) 3uYFT H A IS #T 76/ None of the above

3MYfAF I FROM ... Zanr fasfad #r g ¥l

Modemn Periodic table was developed by

(a) TADIE/Rutherford () O=FEA/Einstein
(c) #Ared SR/Niels Bohr (d) A+=elld/Mendeleev

AueT & AT rpm AT WA & GF F A W, Fgl, V =A/Bae F w49 a1y, a=fah.
H 3o =1 s &)

Select the formula for finding rpm for drilling where V = cutting speed in m/min, d = diameter of
drill in mm

(a) N=(1000x V)/nd (b) N=dV/(1000 x &)

(¢) N==d/(1000 x V) (d) N=1000/ndV

FSHIT ATARAT T SFS ........... gl

Unit of Thermal conductivity

(a) W/K (b) IS (¢) J/kgK (d) WmK

20° ¥t Yot & foIv SAfqeor @ Suet ¥ &7 = 7 Infla Pean giar & d=n
.......... el

The minimum number of teeth on the pinion in order to avoid interference for 20° stub
system is

(@) 12 (b) 14 () 18 (@ 32
FOAT AT T oo, # ffeaw

Heat transfer rate is maximum in

(a) E‘I\Uﬁ USheh/Rotary dryer b < Y=hh/Tray dryer

(c) R Ysheh/Fluidized dryer (d) BTH ¥ FI$ AL/ None of these
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71.

72.

73.

74.

Scriber is made of
(a) dE/Copper (b)  &T3 FISa STUT/High carbon steel
(c) ¥gFEAA/Mild steel (d) Eoar MEl/Cast Iron

HASHIHT FT HeTdTAF ... gl

Least count of a micrometer is

(a) T R A T FEA/TH B T
No. of divisions on the spindle/pitch of spindle screw

) TR gl e aurd Arde 3R s aehdr §
Minimum distance which can be measured accurately
(©) % ©F I Ra/ad & sl S aen
Pitch of spindle screw/no. of divisions on the spindle

(d) (b) T (c) ERI/Both (b) and (c)

A tri-square is used for

(2) YHTAIAT ST ST FA/Checking parallelism

(b) 22 % T4 $r ST F/Checking the pitch of a thread
(c) ST &Y FATT F=1/Checking squareness

(d) 3TdFd # IS Fel/None of the above

aﬁﬁ@maaaﬁ%ﬁﬁ%ﬂmﬁmﬁmﬁﬁaﬂﬁ#mm
e & 39ater R SiTar 872

Which one of the following drilling machines is used for drilling holes where electricity is not
available?

(a) T qt=T FM=/Bench drilling machine  (b) T a7 AM/Pillar drilling machine
(¢ Trsu et AM=i/Radial drilling machine (d) Y= = AM/Ratchet drilling machine

............ , O T F TgFd T Wpias HIEdH L

A natural abrasive used in grinding wheel
() TAfAfAA HiFaTEs/Aluminum oxide  (b) FACH/Quartz
(c) Tafowa Frargs/Silicon carbide (d) 39T @Al of the above
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75.

76.

77.

78.

79.

80.

IR Fad fd H 5w Faa IR & 39T A o g 27
Which cutting tools can be used at higher cutting speed?

(@) 3= T SEUTA/High speed steel (b)  TIETA HEISS/Tungsten carbide

(c) 7 SEIA/Mild steel (d) 39 H & I FAE/None of the above
SorT ag uhRar ¥ SO %Wa@wmmmm@m
IUAeT TR ST §

Brazing is a process in which a non ferrous filler metal having a melting point
(a) 427 °C ¥ TR W HNUR U H Fo
Above 427 °C but lower than that of base metal is used

(b) 427 °C T +iIe TUT ITUR U] § FH
Below 427 °C and lower than that of base metal is used

(c) 427 °C ¥ FW YT YR T & FR
Above 427 °C and above that of base metal is used

(d) 427°C ¥+ o ITUR 41T § FR
Below 427 °C but above than that of base metal is used

v Rafed @/ &, ‘o R & =@ awr ¢ AA & R & Al Ear afds e

............. gl
If ‘d’ is the diameter of rivet and ‘t’ the thickness of plate in mm in a riveted joint, Urwin’s rule is
(a) d=8t (b) d=6n () d=4alt (d d=6vt

fsfaf@a & @ wia-w R sws & g=r §7

Which one of the following is a type of permanent fastener?

(a) AFH HiO/Knuckle joint () Tafea @f/Riveted joint
(c) Qﬁﬁﬂ?ﬂﬂmlange coupling (d) FIETAMA/Cotter joint

UH o Pl HT GE;T B IeeT FA W ST A5 HEAT Ao G&A A 54 3t ¥ Ay
3t T T 12 &, o 98 |

When a two digit number is reversed, the new number is 54 more than the original number. If sum
of the digits is 12, then the number is

(@) 84 ®) 75 © 39 @ 93

ﬁmm%aﬁ%mﬁﬁqﬁn,mag@%msﬂw%&mh

Foam, water and dry chemical are used in which type of fire extinguishers
(a) Class A (b) ClassB (c) Class C (d) ClassD
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F= %1 & fag g / Space for rough work

16
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